www.Padasalai.Net www. TrbTnpsc.com

27— x|

B e L P Rk
e i L LIRS

us of & point whose distance from (-2, 0) s 'i‘ tmes s distance from the e x= “%ﬂ

: -Wﬁn'w*‘-W'-'%.ﬁmﬁmm-ﬂF.(—s.mmFﬁ%‘f;?@._ﬂi'“1_ 912

- A '. )= i . : - ? .
11, The distance between the planes x + 2y + 3z + 7= 0 and 2x + 4y + 62+ 7 =0is 3) —-b) 3455 920

& N A A A A L] n " R
12. The volume of the parallel piped with its edges represented the vectors |+ ), i+2), I+ ]+nk a) 2 b) 3 c) ziﬁ
13. The point of inflection of the curve y = (x - 1)* is .ym.nay 1,0) cria.m d)(1.1)

) 4 b, b1
. m-mfnx’ﬂﬂ;vﬂhmh I\’III"I"' I b) tan™* -5-) c) I“dﬂi

15, Ifg(x, y) = 3x*— Sy + 2y%, x{t) = & and y(1) = cost then %,% is equal to
, + 5sint — 4cost sint b) Ge™ - 5 sint + 4 costsint ) 3e? - § sint + 4cost sint d) 3e” + Ssint + dcost sint

16. Hﬂx.yj-=t".m£3r— is equal to @) xye™ b) {1+ xje” c}{1+yh’fdﬁ1+xy}n”

L]
Py } 3n 3n 3n _.3n
17. The valua of J.nm xdx g a) —2- b) R c) "E"‘Jﬂ?
0

L]
1 n
" H!W‘*"‘E thena-is &) 182 )3 014

AN dy
19. The slope al any pointof a curve y = f{x) is given by a; = 3% and it passas through (-1, 1). Then the equation of the curve is

C Ay=x'+2 b)y=x’ +5 c)y=3+4 d)y=3+4

: T =
If cosx is the integrating factor of the linear differential equation A +Py=QithenPis a)tanx b)cotx c)-cotx d)-tanx

PART - 2
- Answer any 7 questions. 30 question must be answered compulsory. Tx2=14
:";-*; =J:2—" , find the complex number z - in rectangular form.
mine the number of positive and negative roots of the equation X' =5 - 14x"=0 N \..."'C
ok, -
nat value of x, the inequaiity = <cos™ (3x—1) < nholds? e <
y the type of conic seclion for each of the following equations {)3x?+ 3y?-4x+3y+10=0 ii) 3" + 2y'= 14

e and the direction cosines of the torque about the point (2, 0, -1) of a force 21+ |-k whose lina of action passes

- " _’n | x:
inear approximation to find approximate value of 326
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. Decrypt lhe received sncoded 10 1 I
message (10 1) (6 1) with encryption matrix 2 1) Wndihe decrypiion maine as it iverss,
whare the system of codes s described by the numbers 1-26 10 the laitars A-
w-! Azw.mnwnu-mm
mmeqmmwmmhwm Tad=s 2
Solve the foilowing system of equatians by Cramer's rule. 2 2y=12 2, Jy=13
10 x x
1+sin." 4icos ™
10 10
Find the value of i -
1+smm —icusi'n-
Obtain the condition that the rools of x* + pel+gx+y=0areinAP
[ 2+ sinx
Find the domain of cos™' L 3
Find the point of intersection of the lines ‘—-J = !—_—2 = - and S =Y = =1
Write the Maclaurin senes expansion for the ‘.'unﬂmg fix) = ta4n x,-1% :55 1 .
IfU(x. y.2) = log (x* + y* + 2"), find ;*i‘;ﬁﬁ‘.
: £ i [ir 4
Find the area of the region bounded by the y-axis and the parabola x = § - dy —y?
Solve [y[1 — xtanx] + x* cosx] dx - xdy = 0
The Earth is revolving around the Sun in elliptical orbit when Sun s located al one of the focus. 1f the distance between Sun and the other

: 1
focus is 575 x 10* km and eccentricity s — then find the maximum and minimum distance batween tha earth and sun in earth s orbit
PART - 4
Te5=33

Answaer all the questions.
a) Test the consistency of the following systam of linear equations and solve it if it is consistent. x-y+z=-8 2x- yez=4
LZPid W

Ix-y+z=6, dx-y+2z=T7 (OR) b)lifz=x+iyandarg o 7 I - .showthatx' +y!' + Ax -3y + 2= 0
G-y~ J6x-By+18=0

a) ldentify the type of conic and find centre, focl. vertices and directrices of the foliowing

X+y . Fu du 1 i
3 | e e " ™ —_— — E m=
b) It u = sin L Jx+Jy ) show that X — Y - 2
a) Find the local extrema of thea function fix) = 4x* — Bx* (OR) b) Solve x*#3x'-3x-1=0
-~ - - o i & M - . a &
allf g- 2;_3}_;‘“ b=3i+5)«2k: c=-i- 2+ 3k :r-uqf.':.ﬂ“tﬂ'o!lnwng

X
= USR] ot Pt i T \ Evnbiiat —- dx
) ax [blc) i) [a b ¢] i) (a.c)b (OR) b)) Evaluate J 1+ 8inx
a) A pol of boiling water at 100°C is removed from a slove at tima | = 0 and left to cool in the kitchen  ARer 5§ minutes, the water
temparature has decreased to 80°C, and anather 5 minutes later it has dropped 10 65°C  Datarmira tha temparaturs of the kitchan  [OR)

bj!fa,a,a,..anisan arthmetic progression with common diffarence d, prove that
d a, - a,
1+a.a,

) = A\ 4
tan lan ‘———|—tan — ++ ..tan -
| \1+a,a; [ 1+a a3, _

a) Find the dimens:ions of the rectang'e with maximum area that can be inscribed in a circle of radius 10cm. (OR)

1+a.a, 4

LY K

I. x'\l
b) Saive (1+29"}ﬁ:—25"l 1-;:dy =0

a) Parabolc cabie of a 50m pcmon of the roadbed of a suspension bridge are pos i
spaced avery Bm along this partion of the roadbed  Calzulate the lengins of first two of these vartical cab

taned as shown balow Vertical cabies ars to be
img From the vearig

tha plane passing hrough the points .

(OR) b| Find Iha vector parametnc vector non-parametnc and Cartesian form of e euaton of
x-1 2y+1 _1+1

' 201 2.2 ~Trandparaiie to the straight ine — 3 ~
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